Can you answer these questions?
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Understanding other fractions

O
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0 a) What fraction of the children are boys?
What fraction of the children are girls?

b) Ola's kite is 2 red.
Draw the kite,
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Here is an explanation for the first questions

b)

There are 3 children. | ; s o Gt fraction

The denominator is 3.
| of the children is a boy.

The numerator is I.

1
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2 of the children are girls.

of the children are boys.

The numerator is 2.

; of the children are girls.

,‘3: of the kite is red.

The denominator is 4.

So there are 4 equal parts.

The numerator is 3.

So 3 parts are red.

because the numerator
is I. % and % are
non-unit fractions.
What do you notice
about the numerators?

% is read as two-thirds and

% is read as three-quarters.
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Think together

0 Complete the sentences.

This kite is made up of three equal parts. /
The denominatoris| |. Equal parts

do not always
have to look
the same.

Two parts are yellow.

The numerator is

—= of the kite is yellow.
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a) Which kites show ;3; shaded?

b) Which kites have a unit fraction shaded?

¢) Which kites have non-unit fractions shaded?
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o Is each sentence true or false?
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-,3; of the children are boys.

Yy

% of the animals are cats.

If the denominators
are the same, I wonder
if non-unit fractions
are always greater

than unit fractions.




